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Faults (L1)[AT,DT]: [0.0377998, 0.0280623]
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Overcurrent Trip (DCPS)
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—FuII Actlon (DCPS) L|m|t = 356 OOOOO Max 1457 2217 End VaI 1456 9765—
~ Action (idl), Max = 1456.94, End Val.= 1456,94
i [ Full Action (idl), Limit = 356.000, Max.=145Y7.18, End §al. 1456.94
L Shot #: 2599, Param Tree: 72

—Fault Time: 1.3264836

: Faults (L1) [AT,DT]: [0.0377998, 0.0280623]

time
E DL, Circular, [-24.9907, 0.00662852]
DCPS, Circular, [-24.990701, 0.0066285191]
IDL, Shaped [Displaced], [-24.9907, 0.00662852]

DCPS, Shaped [Displaced], [-24.990701, 0.0066285191]
Shot #: 2599, Param Tree: 72
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